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R6.8.6
RO Hox ffi %
X 2
E Y i E=E
Y Lihol E=H &t
@ B =iE hiE E =) g % =iE thiE S
AR 10keg & 0 25,052 43,290 68,342 0 0 0 540 0 324 540 324
MA  5Ske & 0 645 0 645 0 0 0 0 756 0 0 0
A% 10ke & 0 3,130 7,330 10,460 0 0 0 1,080 0 540 1,080 540
B3 10ke & 0 1,025 1,145 2,170 0 0 0 864 0 648 864 648
*vA_Y 10ke & 0 13,400 0 13,400 0 0 0 540 0 324 0 0
[F5NAE 0. 2kek |HE 0 777 0 777 0 0 0 130 0 108 0 0
# L 5ke & 29 2,792 224 3,045 0 1,620 0 2,700 0 1,620 2,700 1,620
125 0. 1kegX =3 0 795 50 845 0 0 0 75 0 64 75 64
L2Z 10kg & 0 670 0 670 0 0 0 2,268 0 1,728 0 0
K Ske & 1,157 2,551 0 3,708 1,944 0 216 0 2,484 0 0 0
MF 0. 4k 20N |ZH 182 1,845 0 2,028 0 140 0 184 0 130 0 0
kb 4ke & 306 3,131 0 3,437 1,404 0 108 0 1,620 0 0 0
S=hTh 0. 2ke/Svy |BEH 134 1,273 0 1,407 140 0 86 173 0 32 0 0
E—<> 0. 15kg% & 0 3,103 647 3,750 0 0 0 108 0 86 108 86
HEE 5Ske B3 0 125 0 125 0 0 0 1,728 0 1512 0 0
A—44> L 10ke & 112 3,300 4,800 8,212 0 2,700 0 3,240 0 2,700 3,240 2,700
% 10ke & 0 9,240 7,250 16,490 0 0 0 3,240 0 1,080 3,240 1,080
E# LK 20ke dtimE 0 3,520 0 3,520 0 0 0 3,240 0 3,024 0 0
IZAIZ< TkeRwb & 0 258 0 258 0 0 0 2,376 0 1,080 0 0
EHE 0. 1ke/Xvy  |BHE 0 156 0 156 0 0 0 108 0 75 0 0
7T 0. 1kesSyy & 0 186 0 186 0 0 0 64 0 32 0 0
ADEE 0. 2ke/Svy |EH 2 288 120 410 0 32 0 81 43 81 43
AELSHLE 0. 1ke/ Sy | S 0 145 0 145 0 0 0 0 97 0 0 0
FWVE 0. 1kessyy iR 0 295 0 295 0 0 0 0 65 0 0 0
% x & &t 2,774 85,677 66,709 155,160 0 0 0 0 0 0 0 0
R E &Gt 0 43,169 7,224 50,393 0 0 0 0 0 0 0 0
#w & &t 2,774 128,846 73,933 205,553 0 0 0 0 0 0 0 0




